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I 3y mwn: extended areas of nkmMY in ©IN 793 vs. those in other 1’55 — disjointed series
a  Nn71x the air-space of a n"3 is R0V, in other 0*93 — MNY; the back of other w51 is 8NV, in N” — NV
b Ar7772 background to 11181 n” nkML — v. 110N, even if it didn’t touch
i Per: vmnvaR 12 1my 7, comparing 12m #1 (Rnoon) with #2 (Rnon)
1 Just as: it is Rnon food without touching, so too it becomes ®nv by having a source of nkm in its air-space
2 Background: imv "1 — the nnin directed that anything inside becomes ®nv, even if it’s filled with mustard seeds
(a) Explanation: even those seeds which aren’t touching the walls are 8nv; they can’t be Xnv due to contact
(i) Reasons: no seed is big enough to transmit nkMY, food isn’t knvn food, inside ones are too many de-
grees separated from original nkmv to be affected (without 1718 nrmMY)
¢ Challenge (to #27): ©IN *92 should be vulnerable to nkmv from its back, 7"p from other %3 (which don’t have 78 nrn)
i Deflection: v. 2 must be referring to vIn »3, which has 98 nkmv; yet if it has 5na Tnx — not Xnv
d  Challenge: other o'93 should be vulnerable to 928 nrmY, via 1"p from 7N 95 (which doesn’t have 123 nkmMY)
i Answer: yn (v. 1) is exclusive — only n”3 has "121n” nknv, no other 093
1 Challenge: we already used 19/ - one for its essential information, one for v”1 (above)
2 Answer: we read 4 19 — (could have said "pn” in each case)
(a) Ome: for essential information
(b) Omne: for v (above)
(c) One: only n”s has "191n” NnRMY
(d) One: only 1910 —but not 121 7N — and even qow 55 (other 0’93) “protect” if inside n”3 and NRMY is in them
e  Challenge: other 1’93 should not have 123 nkmv — only be vulnerable to contact-nkmv from the inside
i Argument: y"p from vIn 93, which has 21" nkmv but not 123
ii  Answer: v. 2 limits %na 1ny’s protection to vIn *93; other @93 won’t be “saved” with 9na Tny > they have 23 nrmw
II 4 mwn: py '93 vs. mann *
a  pyrsx are vulnerable to nkm on their “raw” forms (even if not finished); aren’t vulnerable to nkmv without 1p n’a
i Definition of “raw”: if he still intends to sand, inlay stones, paint, score, plaster, add a handle or lip
1 But not: if he intends to enlarge the »1p na - e.g. if he intended to make it 100 cc and it was only 50 cc
b nnp 257 are not vulnerable to nkmv until finished; are vulnerable to nkmMY even if flat
i Definition of “raw”: if he intends to inlay stones, score, decorate, hammer out, or is missing a handle, lip etc.
1 But: if it is missing a cover, already nkmv %apn
¢ Defense of distinction (between mann/py »53):
i 71 metal vessels are made for 125 - not “finished” until they are properly decorated
ii w2 /7 metal vessels are expensive = not “finished” until they are properly decorated
1 Split the difference: bone vessels
(@) pnr 73 would equate them to yy (for purposes of n’n%i only), they aren’t made for T2
(b) o271 would equate them to nann, as they are expensive
(i) Consistency: 1" explicitly ruled that nxy *53::mann 93
2 Challenge: bone vessels should not be vulnerable to nxmv at all
(a) Defense: they are, per 2”21 Y® 12 YRYHW '7's interpretation of v. 3 — w1y NWyn refers to horns, claws
(i) And:we extend to all animals per 52
(ii) But: oty excludes avians

www.dafyomivicc.org 20 © Yitzchak Etshalom 2011




